2904 59TH AVENUE DRIVE EAST

141 MARITIME DRIVE SANFORD FL 32771

BRADENTON FL 34203

PHONE: 941-756-7779

PHONE: 407-328-5081

FAX:

IN FLA:

941-756-2598

1-800-228-8368

FAX: 407-328-5083

visit us at: www.ten8fire.com

Order Number: SVT108975

SALES ORDER

Order Date: Page: 1

Sold To:

KEY WEST FIRE DEPT. mike/davila/305/809-3938

1600 N. ROOSEVELT BLVD. KEY WEST, FL 33040

Ship Via Ship Date

**NET 30 DAYS** Terms

Work Done

Equipment

Problem

CAB

**ENFORCER PUMPER** 

Equipment ID

15735

Ship

KEY WEST FIRE DEPARTMENT

To:

mike/davila/305/809-3938 1600 N ROOSEVELT BLVD KEY WEST, FL 33040

Customer ID

KEY W

P.O. Number

MIKE/DAVILA

P.O. Date

SalesPerson **EAST** 

Ten-8 Contact MICHAEL SWANN

Item No.

Description

**UOM Quantity Unit Price** 

**Total Price** 

MILES: HOURS:

**KEY WEST ENGINE #4** 

COMPLAINT

1-WINDOW SEAL CAB DOOR.

CAUSE-NORMAL WEAR.

CORRECTION-REMOVE WORN SEAL AND REPLACE

WITH A NEW WINDOW SEAL.

TECH4	POMPANO BEACH TECH	HOUR	1	98.00	98.00
PIE-46-5994	@SEAL WINDOW WIPER CAB DOOR(962197)	EACH	1	17.83	17.83
PIE-35-2254	WINDOW CAB ROLL-UP FRONT.(962197)	EACH	1	62.12	62.12
FREIGHT	FREIGHT CHARGES(962197)	EACH	1	38.00	38.00
PIE-94-2028-003	INSULATOR, MACH SCREW (S/T BRAD)	EACH	2	0.08	0.17
FREIGHT	FREIGHT CHARGES(S/T BRAD)	EACH	1	12.98	12.98
	**********				

Transferred to page 2.....

2904 59TH AVENUE DRIVE EAST

141 MARITIME DRIVE SANFORD FL 32771

BRADENTON FL 34203

IN FLA: 1-800-228-8368

PHONE: 941-756-7779

PHONE: 407-328-5081 941-756-2598 FAX: 407-328-5083

visit us at: www.ten8fire.com

KEY WEST FIRE DEPT

mike/davila/305/809-3938 1600 N. ROOSEVELT BLVD.

KEY WEST, FL 33040

Ship Via

FAX:

Sold

To:

Ship Date

Terms **NET 30 DAYS** 

Work Done

Problem

CAB

**ENFORCER PUMPER** 

Equipment Equipment ID

15735

SALES ORDER

Order Number: SVT108975

Order Date:

Page: 2

Ship

KEY WEST FIRE DEPARTMENT

To: mike/davila/305/809-3938

1600 N ROOSEVELT BLVD KEY WEST, FL 33040

Customer ID

KEY W

P.O. Number

MIKE/DAVILA

P.O. Date

SalesPerson **EAST** 

Ten-8 Contact MICHAEL SWANN

**UOM Quantity Unit Price Total Price** 

Description

229.10

COMPLAINT

Item No.

2-RIGHT REAR DOOR LATCH BROKEN.

Transferred from page 1.....

CAUSE-NORMAL WEAR.

CORRECTION-REMOVE BROKEN DOOR LATCH

AND REPLACE WITH A NEW DOOR LATCH ASSEMBLY.

TECH4

POMPANO BEACH TECH

HOUR

**EACH** 

98.00

147.00

PIE-1277770

LATCH ASSY, DBL, RTR,RH (S/T BRAD)

1

64.87

64.87

**FREIGHT** 

FREIGHT CHARGES (S/T BRAD)

**EACH** 32.00

1.5

32.00

COMPLAINT

3-PRIMER PUMP DOES NOT WORK.

CAUSE-NORMAL WEAR.

Transferred to page 3.....

2904 59TH AVENUE DRIVE EAST

141 MARITIME DRIVE SANFORD FL 32771

IN FLA: 1-800-228-8368

FAX:

BRADENTON FL 34203

PHONE: 941-756-7779

941-756-2598

PHONE: 407-328-5081

FAX: 407-328-5083

visit us at: www.ten8fire.com

SALES ORDER

Order Number: SVT108975

Order Date: Page: 3

Sold To:

KEY WEST FIRE DEPT. mike/davila/305/809-3938 1600 N. ROOSEVELT BLVD.

KEY WEST, FL 33040

Ship Via

Ship Date

Terms **NET 30 DAYS** 

Work Done

Problem Equipment CAB

**ENFORCER PUMPER** 

Equipment ID

15735

Ship

KEY WEST FIRE DEPARTMENT

To:

mike/davila/305/809-3938 1600 N ROOSEVELT BLVD KEY WEST, FL 33040

Customer ID

KEY W

P.O. Number

MIKE/DAVILA

P.O. Date

SalesPerson **EAST** 

Ten-8 Contact MICHAEL SWANN

Item No.	Description	UOM	Quantity	Unit Price	Tota	al Price
	Transferred from page 2  CORRECTION-REMOVE PRIMER PUMP ASSEMBLY.				<b>3</b>	472.97
	REPLACE WITH A NEW PRIMER PUMP ASSEMBLY					
	THEN CHECK OPERATION.					
TECH4	POMPANO BEACH TECH	HOUR	3	98.00		294.00
WAT-9319	PRIMER PUMP SUB-ASSY. K-12.	EACH	1	1,409.20	1,	409.20
FREIGHT	FREIGHT CHARGES	EACH	1	69.00		69.00
	***************					
	SHOP SUPPLY FEE	EACH	1	73.12		73.12
	IMPORTANT NOTE: THIS TRUCK NEEDS TO COME TO					
	THE POMPANO SHOP FOR REPAIRS. THIS IS AN					
	ESTIMATE OF REPAIRS WE KNOW TO BE NEEDED FROM					
	Transferred to page 4				2,	318.29

2904 59TH AVENUE DRIVE EAST

141 MARITIME DRIVE SANFORD FL 32771

IN FLA: 1-800-228-8368

Sold

To:

BRADENTON FL 34203

PHONE: 941-756-7779

PHONE: 407-328-5081

FAX: 941-756-2598

FAX: 407-328-5083

visit us at: www.ten8fire.com

Ship

KEY WEST FIRE DEPARTMENT

SALES ORDER

Order Date:

Order Number: SVT108975

Page: 4

To:

mike/davila/305/809-3938 1600 N ROOSEVELT BLVD KEY WEST, FL 33040

Ship Via

Ship Date Terms

**NET 30 DAYS** 

KEY WEST FIRE DEPT.

mike/davila/305/809-3938

KEY WEST, FL 33040

1600 N. ROOSEVELT BLVD.

Work Done

Problem CA

CAB

**ENFORCER PUMPER** 

Equipment ID

15735

Customer ID

KEY W

P.O. Number

MIKE/DAVILA

P.O. Date

SalesPerson EAST

Ten-8 Contact MICHAEL SWANN

Item No.

Description

**UOM Quantity Unit Price** 

**Total Price** 

Transferred from page 3.....

THE INITIAL INSPECTION PREFORMED WHILE WE

WERE

IN KEY WEST. ONCE WE BEGIN THE REPAIRS CURRENTLY

SCHEDULED WE ARE SURE THERE WILL BE A NEED

FOR

ADDITIONAL PARTS AND LABOR. WHEN WE GET TO

THAT
POINT I WILL SUBMIT A SUPPLIMENTAL QUOTE FOR

APPROVAL BEFORE PROCEEDING.

I APPRECIATE YOUR BUSINESS.

2,318.29

Amount Subject to Sales Tax 0.00 Amount Exempt from Sales Tax 2,318.29 Subtotal: Invoice Discount:

2,318.29 0.00 0.00

Total:

Sales Tax:

2,318.29

2904 59TH AVENUE DRIVE EAST

BRADENTON FL 34203

141 MARITIME DRIVE SANFORD FL 32771

FAX:

Sold

To:

IN FLA: 1-800-228-8368

PHONE:

941-756-7779

941-756-2598

PHONE: 407-328-5081 FAX: 407-328-5083

visit us at: www.ten8fire.com

KEY WEST FIRE DEPT.

MIKE/DAVILA/305809-3938 1600 N. ROOSEVELT BLVD.

KEY WEST, FL 33040

Ship Via

Ship Date

Terms

**NET 30 DAYS** 

Work Done

Problem Equipment

DASH 2000 PUMPER

Equipment ID

11391

**SALES ORDER** 

Order Number: SVT108971

Order Date: Page: 1

Ship To:

KEY WEST FIRE DEPARTMENT

MIKE/DAVILA/305809-3938 1600 N ROOSEVELT BLVD

KEY WEST, FL 33040

Customer ID

KEY W

P.O. Number

MIKE DAVILA

P.O. Date

SalesPerson EAST

Ten-8 Contact MICHAEL SWANN

Item No.	Description	UOM Quantity Unit Price	Total Price
	MILES: HOURS:		
	KEY WEST ENGINE # 9		

KEY WEST ENGINE # 8 COMPLAINT

1-NUMBER ONE CROSS LAY GAUGE BACK PLATE BROKEN.

CAUSE-NORMAL WARE.

CORRECTION-REMOVE GAUGE AND BACK PLATE.

REPLACE

BACK PLATE WITH NEW BACK PLATE AND REINISTALL

GAUGE.

TECH4 POMPANO BEACH TECH HOUR 98.00 98.00

PIE-1724730 BRACKET FOR 4.5" CLASS1 GAUGE (ST/POMP) **EACH** 17.32 17.32

\*\*\*\*\*\*\*\*\*\*\*

COMPLAINT

Transferred to page 2.....

2-CROSS LAY VALVES LEAKING.

2904 59TH AVENUE DRIVE EAST BRADENTON FL 34203

141 MARITIME DRIVE SANFORD FL 32771

IN FLA: 1-800-228-8368

PHONE: 941-756-7779

PHONE: 407-328-5081

FAX:

941-756-2598

FAX: 407-328-5083

visit us at: www.ten8fire.com

Order Number: SVT108971

SALES ORDER

Order Date: Page: 2

Sold To:

KEY WEST FIRE DEPT. MIKE/DAVILA/305809-3938 1600 N. ROOSEVELT BLVD.

KEY WEST, FL 33040

Ship To:

KEY WEST FIRE DEPARTMENT

MIKE/DAVILA/305809-3938 1600 N ROOSEVELT BLVD KEY WEST, FL 33040

Ship Via

Ship Date

Terms

**NET 30 DAYS** 

Work Done

Problem

DASH 2000 PUMPER

Equipment Equipment ID

11391

Customer ID

KEY W

P.O. Number MIKE DAVILA

P.O. Date

SalesPerson **EAST** 

Ten-8 Contact MICHAEL SWANN

Item No.	Description	UOM	Quantity	Unit Price	Total Price
	Transferred from page 1 CAUSE-NORMAL WARE.				115.32
	CORRECTION-REMOVE WORN VALVE ASSEMBLIES CLEAN				
	INSPECT AND REBUILD.				
TECH4	POMPANO BEACH TECH	HOUR	4	98.00	392.00
AKR-8805	*CONVERSION 2" S/S BALL	EACH	2	82.24	164.48
	*************************************				
COMPLAINT	2 OIL LEAVING AT THE ENGINE				

COMPLAINT

3-OIL LEAKING AT THE ENGINE.

CAUSE-VALVE COVER GASKETS ARE WORN AND THE

OIL PAN GASKET IS WORN.

CORRECTION-REMOVE THE VALVE COVERS AND

THE OLD GASKET MATERIAL. REINSTALL THE VALVE

Transferred to page 3.....

2904 59TH AVENUE DRIVE EAST

141 MARITIME DRIVE SANFORD FL 32771

FAX:

IN FLA: 1-800-228-8368

PHONE: 941-756-7779

BRADENTON FL 34203

941-756-2598

PHONE: 407-328-5081 FAX: 407-328-5083

visit us at: www.ten8fire.com

Order Number: SVT108971 Order Date:

SALES ORDER

Page: 3

Sold To:

KEY WEST FIRE DEPT. MIKE/DAVILA/305809-3938 1600 N. ROOSEVELT BLVD. KEY WEST, FL 33040

Ship Via

Ship Date Terms

**NET 30 DAYS** 

Work Done

Problem Equipment

DASH 2000 PUMPER

Equipment ID

11391

Ship To:

KEY WEST FIRE DEPARTMENT MIKE/DAVILA/305809-3938 1600 N ROOSEVELT BLVD KEY WEST, FL 33040

Customer ID

KEY W

P.O. Number

MIKE DAVILA

P.O. Date

SalesPerson **EAST** 

Ten-8 Contact MICHAEL SWANN

Item No.	Description	UOM	Quantity	Unit Price	Total Price
	Transferred from page 2 COVERS WITH NEW VALVE COVER GASKETS.REMOVE				671.80
	THE OIL PAN CLEAN OFF THE OLD GASKET MATERIAL				
	REINSTALL THE OIL PAN WITH A NEW GASKET.				
TECH4	POMPANO BEACH TECH	HOUR	10	98.00	980.00
	VALVE COVER GASKET SET	EACH	1	75.00	75.00
	OIL PAN GASKET SET	EACH	1	89.00	89.00

COMPLAINT

4-THE CAB DOOR MOULDING DRIVERS SIDE NEEDS

\*\*\*\*\*\*\*\*\*\*\*\*\*\*

TO BE REPLACED.

CAUSE-UNKOWN.

Transferred to page 4.....

1,815.80

2904 59TH AVENUE DRIVE EAST BRADENTON FL 34203

141 MARITIME DRIVE SANFORD FL 32771

IN FLA: 1-800-228-8368

PHONE: 941-756-7779

PHONE: 407-328-5081

941-756-2598 FAX: 407-328-5083

visit us at: www.ten8fire.com

Sold To:

FAX:

KEY WEST FIRE DEPT. MIKE/DAVILA/305809-3938 1600 N. ROOSEVELT BLVD.

KEY WEST, FL 33040

Ship Via

Ship Date

Terms **NET 30 DAYS** 

Work Done

Problem Equipment

DASH 2000 PUMPER

Equipment ID

11391

# SALES ORDER

Order Number: SVT108971

Order Date: Page: 4

Ship To:

KEY WEST FIRE DEPARTMENT MIKE/DAVILA/305809-3938 1600 N ROOSEVELT BLVD KEY WEST, FL 33040

Customer ID

KEY W

P.O. Number

MIKE DAVILA

P.O. Date

SalesPerson **EAST** 

Ten-8 Contact MICHAEL SWANN

Item No.	Description	UOM	Quantity	Unit Price	Total Price
	Transferred from page 3  CORRECTION-REMOVE DAMAGED MOULDING AND				1,815.80
	REPLACE WITH NEW MOULDING.				
TECH4	POMPANO BEACH TECH	HOUR	2	98.00	196.00
PIE-930141	EXTR,RUBBER,WINDOW CHANNEL	FOOT	10	3.45	34.50
PIE-930170	@EXTRUSION RUBBER WINDOW TRIM	FOOT	6	2.40	14.40
	************				
	SHOP SUPPLY FEE		1	133.28	133.28
	IMPORTANT NOTE: THIS TRUCK NEEDS TO COME UP TO				
	Transferred to page 5				2,193.98

2904 59TH AVENUE DRIVE EAST

BRADENTON FL 34203

141 MARITIME DRIVE SANFORD FL 32771

IN FLA: 1-800-228-8368

PHONE: FAX:

941-756-7779

941-756-2598

PHONE: 407-328-5081

407-328-5083 FAX:

visit us at: www.ten8fire.com

Sold To:

KEY WEST FIRE DEPT. MIKE/DAVILA/305809-3938 1600 N. ROOSEVELT BLVD.

KEY WEST, FL 33040

Ship Via

Ship Date

Terms

**NET 30 DAYS** 

Work Done

Problem Equipment

DASH 2000 PUMPER

Equipment ID

11391

SALES ORDER

Order Number: SVT108971

Order Date: Page: 5

Ship To:

KEY WEST FIRE DEPARTMENT MIKE/DAVILA/305809-3938 1600 N ROOSEVELT BLVD KEY WEST, FL 33040

Customer ID

KEY W

P.O. Number

MIKE DAVILA

P.O. Date

SalesPerson EAST

Ten-8 Contact MICHAEL SWANN

**UOM Quantity Unit Price Total Price** 

Item No.

Description

2,193.98

Transferred from page 4.....

POMPANO FOR REPAIRS. THIS IS AN ESTIMATE OF

REPAIRS WE KNOW TO BE NEEDED FROM THE

INITIAL INSPECTION PERFORMED WHILE WE WERE

IN KEY WEST. ONCE WE START THE REPAIRS CURRENTLY

SCHEDULED WE KNOW THERE WILL BE A NEED FOR

ADDITIONAL PARTS AND LABOR. WHEN WE GET TO THAT

POINT I WILL SUBMIT A SUPPLIMENTAL QUOTE FOR

APPROVAL BEFORE PROCEEDING

I APPRECIATE YOUR BUSINESS

Amount Subject to Sales Tax 0.00 Amount Exempt from Sales Tax 2,193.98

Subtotal: Invoice Discount:

2.193.98 0.00 0.00

Total:

Sales Tax:

2,193.98

2904 59TH AVENUE DRIVE EAST

141 MARITIME DRIVE SANFORD FL 32771

Sold

To:

BRADENTON FL 34203 IN FLA: 1-800-228-8368

PHONE: 941-756-7779

PHONE: 407-328-5081

FAX:

941-756-2598

FAX: 407-328-5083

visit us at: www.ten8fire.com

KEY WEST FIRE DEPT.

KEY WEST, FL 33040

MIKE/DAVILA/305/809-3938

1600 N. ROOSEVELT BLVD.

Ship To:

KEY WEST FIRE DEPARTMENT

SALES ORDER

Order Date:

Order Number: SVT108973

Page: 1

MIKE/DAVILA/305/809-3938

1600 N ROOSEVELT BLVD KEY WEST, FL 33040

Ship Via

Ship Date

Terms

**NET 30 DAYS** 

Work Done

Problem STEERING GEAR BOX FAILURE

Equipment **VELOCITY PUMPER** 

Equipment ID

20715

Customer ID

KEY W

P.O. Number

MIKE/DAVILA

P.O. Date

SalesPerson EAST

Ten-8 Contact MICHAEL SWANN

Item No.

Description

**UOM Quantity Unit Price** 

**Total Price** 

3,693.08

MILES:

HOURS:

**KEY WEST ENGINE #9** 

COMPLAINT

1-STEERING BOX MOUNTING BOLTS ARE BACKING

OUT.

CAUSE-POSSIBLE THREADS BAD AT MOUNTING

PLATE.

CORRECTION-REMOVE STEERING BOXES TO INSPECT

MOUNTING PLATE THREADS. REPLACE MOUNTING

PLATE WITH A NEW PLATE ASSEMBLY

Transferred to page 2.....

	PLATE WITH A NEW PLATE ASSEMBLY.				
TECH4	POMPANO BEACH TECH	HOUR	21	98.00	2,058.00
TECH4	POMPANO BEACH TECH	HOUR	5	98.00	490.00
PIE-3408750	TRAY,STEERING GEAR WELDMENT TAK-4,PRGB	EACH	1	190.08	190.08
PIE-3865552	SPCR, 1.00X1.75X1.00 (962195)	EACH	3	6.50	19.50
PIE-82-0188-0002	BOLT .50"-13 CARR GR8 3.5"LONG (962195)	EACH	6	2.17	13.00
FREIGHT	FREIGHT CHARGES (962195)	EACH	6	153.75	922.50

2904 59TH AVENUE DRIVE EAST

141 MARITIME DRIVE SANFORD FL 32771

BRADENTON FL 34203

IN FLA: 1-800-228-8368

PHONE: 941-756-7779

941-756-2598

PHONE: 407-328-5081 FAX: 407-328-5083

Transferred to page 3.....

visit us at: www.ten8fire.com

SALES ORDER

Order Number: SVT108973

5,812.21

Order Date: Page: 2

Sold To:

FAX:

KEY WEST FIRE DEPT. MIKE/DAVILA/305/809-3938 1600 N. ROOSEVELT BLVD.

KEY WEST, FL 33040

Ship To:

KEY WEST FIRE DEPARTMENT MIKE/DAVILA/305/809-3938 1600 N ROOSEVELT BLVD KEY WEST, FL 33040

Ship Via

Ship Date

Terms

**NET 30 DAYS** 

Work Done

Problem STEERING GEAR BOX FAILURE

**VELOCITY PUMPER** 

Equipment Equipment ID

20715

Customer ID KEY W

P.O. Number

MIKE/DAVILA

P.O. Date

SalesPerson **EAST** 

Ten-8 Contact MICHAEL SWANN

EACH EACH	8	2.33 16.82	3,693.08 18.67 100.90
EACH	6	16.82	
HOUR	3	98.00	294.00
EACH	1	1,409.20	1,409.20
EACH	1	69.00	69.00
EACH	1	227.36	227.36
ΞΑ	ACH	ACH 1	ACH 1 1,409.20 ACH 1 69.00

2904 59TH AVENUE DRIVE EAST

BRADENTON FL 34203

141 MARITIME DRIVE SANFORD FL 32771

IN FLA: 1-800-228-8368

PHONE: FAX.

Sold

941-756-7779

941-756-2598

PHONE: 407-328-5081

FAX: 407-328-5083

visit us at: www.ten8fire.com

KEY WEST FIRE DEPT.

To: MIKE/DAVILA/305/809-3938 1600 N. ROOSEVELT BLVD.

KEY WEST, FL 33040

Ship Via

Ship Date

Terms Work Done NET 30 DAYS

Problem

STEERING GEAR BOX FAILURE

Equipment VELOCITY PUMPER

Equipment ID

20715

SALES ORDER

Order Number: SVT108973

Order Date: Page: 3

Ship To:

KEY WEST FIRE DEPARTMENT MIKE/DAVILA/305/809-3938 1600 N ROOSEVELT BLVD

KEY WEST, FL 33040

Customer ID

KEY W

P.O. Number

MIKE/DAVILA

P.O. Date

SalesPerson **EAST** 

Ten-8 Contact MICHAEL SWANN

**Total Price** 

Item No.

Description

**UOM Quantity Unit Price** 

5,812.21

\*\*\*\*\*\*\*\*\*\*\*\*\*

Transferred from page 2.....

IMPORTANT NOTE: THIS TRUCK NEEDS TO COME HERE

TO POMPANO FOR REPAIRS. THE LISTED REPAIRS

WHAT WE ARE ABLE TO IDENTIFY FROM THE INSPECTION

PERFORMED WHILE WE WERE IN KEY WEST. IF WE

ADDITIONAL PARTS AND LABOR ARE NEEDED I WILL

SUBMIT A SUPPLIMENTAL QUOTE FOR APPROVAL

BEFORE PROCEEDING.

THANK YOU FOR YOUR BUSINESS

Amount Subject to Sales Tax

0.00

Amount Exempt from Sales Tax 5,812.21

Subtotal:

Invoice Discount: Sales Tax: 5.812.21 0.00

0.00

Total:

5,812.21